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T X ET 4 £ H 5l A HE (G T % & B #& P
FEX -0.8 -1.6 =2.0 -1.1 -1.9
144, 500 442,900 88, 200 257, 800 10, 200
23 23 15 14 1 1 39 38 1 1
BRI X, -1.6 -1.7 -1.3 -1.6
113, 600 194, 100 83, 600 134,100
16 16 8 8 3 3 27 27
B KX =2.9 =2.0 =2.0 -2.6
79, 500 124, 100 60, 200 87, 700
22 22 8 7 4 4 34 33
Frhd TR -1.8 -1.7 -1.7 1.7 -1.9
113, 000 296, 400 72, 400 166, 600 10, 200
61 61 31 29 8 8 100 98 1 1
X -0.3 -1.1 -0.6
94, 000 199, 500 138, 800
23 23 17 17 40 40
X -0.8 0.3 0.0 =0.5
70, 800 105, 000 55, 500 77, 500
9 9 3 3 1 1 13 13
(S =0.9 -1.6 -0.6 -1.0 -1.1
52, 100 64, 500 34, 000 52, 600 890, 000
11 11 2 2 1 1 14 14 1 1
X —2.5 0.0 =0.7 —2.1
47, 500 81, 000 40, 000 49, 500
11 11 1 1 1 1 13 13
B -1.6 =2.0 -1.8 -1.1
33, 800 50, 300 39, 800 570, 500
7 7 4 4 11 11 2 2
EALIX =0.9 =0.9 =0.9
60, 500 84, 500 63, 900
6 6 1 1 7 7
R X -2.6 —2.1 —2.4 =0.7
10, 500 25, 200 14, 500 27, 200
8 8 3 3 11 11 1 1
BN T ) -1.2 -1.2 =0.4 -1.2 -1.0
61,100 138, 000 43, 200 82, 400 514, 600
75 75 31 31 3 3 109 109 4 4
BT -2.8 -2.5 -0.8 2.7 -1.6
78, 900 159, 000 51, 500 96, 900 1, 230, 000
25 25 8 8 1 1 34 34 1 1
NI -1.8 =0.6 -1.5 -1.3
52,100 123, 900 71, 700 156, 000
8 8 3 3 11 11 1 1
=B =0.5 0.3 -0.3 =2.0
107, 000 208, 300 135, 900 720, 000
10 10 4 4 14 14 1 1
BLE -1.5 -1.4 0.0 -1.4 -1.6
37, 300 70, 600 28, 600 41, 800 455, 000
26 26 5 5 2 2 33 33 2 2
Gr T -1.3 -1.6 -1.5 =0.7
32,900 86, 100 66, 200 140, 000
3 3 5 4 8 7 1 1
E [ i -2.3 -3.6 -1.6 -2.6 2.2
50, 200 56, 800 30, 800 50, 600 440, 000
11 11 4 4 1 1 16 16 1 1
B -1.3 -1.4 0.3 -1.3 -1.4
62, 300 85, 300 39, 600 66, 300 340, 000
34 34 10 10 2 2 46 46 1 1
TE M -1.1 -1.9 =0.5 -1.2 -1.2
46, 200 61, 600 21, 700 48, 900 850, 000
18 18 6 6 1 1 25 25 1 1
BT 2.4 -4.9 -2.6
49, 400 71, 000 51, 900
15 15 2 1 17 16
B -1.7 -2.9 -1.2 =2.0 —2.4
42,100 64, 600 25, 600 48, 300 800, 000
12 12 6 6 1 1 19 19 1 1
TRk T -1.2 -1.5 =0.5 -1.3 -1.5
59, 500 75, 200 43, 400 62, 400 192, 000
16 16 5 5 1 1 22 22 1 1
T =0.9 -0.8 0.0 -0.8 -1.2
66, 900 94, 000 28, 700 65, 900 247, 000
10 10 1 1 1 1 12 12 1 1
TR -1.3 =0.9 =0.6 -1.1
38, 700 56, 800 35, 000 42, 900
8 8 3 3 1 1 12 12
TH -1.5 -1.0 -1.3
58, 100 90, 000 68, 700
2 2 1 1 3 3
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R -0.9 -0.8 0.0 -0.8 1.7
75, 000 119, 000 41, 100 76, 000 116, 000
8 8 1 1 1 1 10 10 1 1
TV =2.0 =0.4 =0.4 -1.6 -2.8
45, 900 79,100 24, 000 47, 300 940, 000
6 6 1 1 1 1 8 8 1 1
ot -3.4 ~4.2 =3.7 -1.3
33, 000 55, 100 41, 100 38, 000
7 7 4 4 11 11 1 1
TR T 2.3 ET 2.3 1.1
14, 700 25, 800 16, 900 340, 000
4 4 1 0 5 4 1 1
251 T -1.4 2.7 -1.7
27, 300 58, 400 35, 100
3 3 1 1 4 4
P EOHETT -2.2 -1.8 —2.1
63, 200 92, 700 72, 000
7 7 3 3 10 10
Yoz g/ -2.6 -3.5 2.2 -2.8 -3. 4
30, 900 35, 100 18, 100 30, 100 953, 000
3 3 2 2 1 1 6 6 1 1
T = -1.7 -1.9 =0.5 -1.7 -1.7
55, 500 89, 700 32, 600 62, 500 494, 800
236 236 76 73 14 14 326 323 17 17
wa T -1.6 -1.7 -0.9 -1.6 -1.6
66, 100 147, 000 46, 600 86, 000 476, 400
372 372 138 133 25 25 535 530 22 22
TROto Ey -3.4 -3.8 -3.5 -1.0
33,100 59, 000 41, 700 99, 000
2 2 1 1 3 3 1 1
T FER] -2.9 -2.9 -2.9 -1.4
23,900 40, 200 29, 300 28, 100
2 2 1 1 3 3 1 1
AN -3.3 -3.3
15, 000 15, 000
2 2 2 2
NG 5.1 -3.5 ~4.5
22, 000 49, 000 31, 000
2 2 1 1 3 3
FE AN -4.5 -3.4 -1.3
25, 300 45, 000 29, 200
4 4 1 1 5 5
T =0.9 =0.9 =0.9 -1.1
94, 000 110, 000 96, 700 455, 000
5 5 1 1 6 6 1 1
5 KHT -0.5 -1.5 -0.8
112, 700 128, 000 116, 500
3 3 1 1 4 4
R HT -0.3 0.0 -0.3
107, 800 138, 000 113, 800
4 4 1 1 5 5
JINIET -1.8 -1.0 -1.7
34,100 48, 500 35, 900
7 6 1 1 8 7
ERET -1.2 —4.7 -2.4
39, 800 26, 300 35, 300
2 2 1 1 3 3
JITFRAHT -2.8 -1.1 —2.5
10, 500 27, 000 13, 800
4 4 1 1 5 5
ZRET -1.4 -1.0 -1.3
28, 000 39, 000 31, 600
2 2 1 1 3 3
e 2.2 2.2 2.2 -1.2
49, 800 64, 500 53, 100 194, 000
39 38 11 11 50 49 3 3
r = -1.6 -1.7 =0.9 -1.6 -1.5
64, 500 140, 900 46, 600 83, 200 442, 500
411 410 149 144 25 25 585 579 25 25
B PR
B SRR (M, m) (1 0 DALEPUFERA)  (BRHUZ DWW TIE, 1 07—/ Y472 0 OAllikk)

T

Mo (F -

LR

Hic Ak )




